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QUESTION 1

An architect has been asked to evaluate the existing Active Directory infrastructure to implement a Horizon 7-based
virtual Desktop infrastructure. The Active Directory Admin helped the architect create the attached exhibit related to the
current Active Directory.

B )

Parent Domain
A

.‘x. Stand-Alone
Domain

Child Domain A

The customer specified these requirements:

1.

Extend the same Horizon 7 infrastructure to a 20 User Organization from Stand-Alone Domain.

2.

Two users from the Stand-Alone Domain must have Administration access to Horizon View Infrastructure.

The architect has been asked to recommend Active Directory changes with a constraint of least possible trust
relationship and credential duplication to meet the additional requirement.

Referring to the exhibit, which two recommendations would enable Active Directory infrastructure to meet
requirements?

A. Configure Secondary credential for View administration users only.

B. Establish two-way trust relationship between Parent Domain A and Stand-Alone Domain.
C. Establish one-way trust relationship between Parent Domain A and Stand-Alone Domain.
D. Configure Secondary credential for View Desktop users only.

E. Configure Secondary credential for View Desktop users and View Administration Domain.
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Correct Answer: AE

QUESTION 2

An architect was asked to design a VMware supported solution which will support 3,000 users connecting to a local
single floating desktop pool concurrently.

Which Horizon View feature must be incorporated into the architect\\'s design to meet the requirement?
A. Cloud Pod Architecture

B. Instant Clones

C. View Composer

D. Local Entitlements

Correct Answer: C

QUESTION 3

An application packaging team is preparing to deploy a new enterprise application for 1000 users. Application
requirements and limitations include:

1.

Windows 2012 R2 or Windows 10 64-bit OS

2.

Installation of a PDF printer

3.

Application only allows a single instance to be launched
4,

1 GB RAM

The organization is only using Horizon hosted applications on Windows 2012 R2. The servers are at 30% utilization. No
additional users will be added.

What changes to the Horizon environment will be required to deploy the application?
A. Deploy a Windows 10 desktop pool.

B. Deploy User Environment Manager.

C. Deploy a new application pool using Windows 2012 R2.

D. Deploy App Volumes with writeable volumes.
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Correct Answer: B

QUESTION 4

A customer is looking to implement a VMware solution with these requirements:
1.

Support for 200 call center employees on a single 8-hour shift

2.

Application access through physical Windows 7 desktops

3.

Restrict access to only these applications: Google Chrome, FileZilla (an open source FTP application), and a custom in-
house client-server call center application

An architect is tasked with determining the lowest cost license solution that will meet the customer\\'s requirements.
Which solution should the architect choose?

A. 600 concurrent licenses of Horizon 7

B. 200 named licenses of Horizon 7

C. 200 concurrent licenses of Horizon 7

D. 600 named licenses of Horizon 7

Correct Answer: C

QUESTION 5

A customer is deploying a new Horizon View Pool which will support workstations deployed using older third-party zero
clients. The older zero clients will be used to access a 3D modeling application. Which protocol should the pool use?

A. RDP

B. RGS

C. PColP

D. Blast Extreme

Correct Answer: D

QUESTION 6

The IT team at a small government organization wants to deploy Windows RDS desktops to their end users. They want
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the end users\\' profile and application customization setting preserved. They also want to deploy applications using
VMware App Volumes.

What should be implemented to meet requirements?

A. Use Horizon instant clone RDS hosts with User Environment Manager.

B. Use Horizon linked clone RDS hosts with VMware FLEX.

C. Use Horizon instant clone RDS hosts with App Volumes Writable volumes.

D. Use Horizon linked clone RDS hosts with user persistent disks.

Correct Answer: C

Writable volume is an user-specific read-write volume where the user is allowed to preserve application files and user-
installed applications, settings, licensing information, and data. A user can have only one writable volume attached at a

time to a desktop, but can have multiple writable volumes assigned.

Reference: https://techzone.vmware.com/resource/app-volumes-deployment-considerations

QUESTION 7

A company has asked an architect for assistance in reviewing its design plans for distributing a finance application to its
users with multiple RDS hosts using a custom load balancing script. What can the architect recommend for a script with
proper load return values to prevent overloading of an RDS host?

A. Block connections to this RDS host at a load value of block.

B. Allow connections to this RDS host at a load value of 0.

C. Allow connections to this RDS host at a load value of allow.

D. Block connections to this RDS host at a load value of 0.

Correct Answer: A

Reference: https://docs.vmware.com/en/VVMware-Horizon-7/7.1/com.vmware.horizon-
view.administration.doc/GUID-7FC6E9D2-5D12-4590-BB30-188F5E87D8F9.html

QUESTION 8

Which are three default network ports that need to be allowed through a firewall for a Workspace One solution
supporting Mobile Single-Sign on (SSO) for iOS and Android devices? (Choose three.)

A. TCP 5262
B. TCP/UDP 88
C. TCP 8443

D. TCP/UDP 1337
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E. TCP 443
F. TCP 80
Correct Answer: ABE

Reference: https://techzone.vmware.com/resource/network-ports-vmware-horizon-7

QUESTION 9

Company A decided to start using GPO to optimize PColP across all their Horizon 7 Desktop pools. During the Proof of
Concept (POC) on the local network, there were no performance issues. The company decided to move to UAT. Access
from the outside network needs to be tested. Some sales staff traveling to overseas countries, where network speed is
low, have reported that the screen quality is degraded during usage.

Which setting should be recommended to retain screen quality, regardless of a user\\'s connection?

A. Configure the PColP session bandwidth floor value.

B. Configure PColP client image cache size policy.

C. Turn on Build-to-Lossless feature.

D. Configure the maximum PColP bandwidth session.

Correct Answer: C

QUESTION 10

A VDI Architect wants to optimize Blast Extreme protocol between 400 Horizon Windows clients and agents on an
organization\\'s LAN. No GPO currently makes Horizon settings to these clients or agents. What GPO setting will
improve performance of these systems?

A. Enable H264

B. Disable UDP Protocol

C. Enable UDP Protocol

D. Disable H264

Correct Answer: B

QUESTION 11

In a local design, a company selected one database instance to be shared by Horizon View Composer database,
vCenter external database, and Horizon AppVolumes database. The design must provide High Availability for all
databases. Which two database server options should be selected during physical design creation? (Choose two.)

A. Oracle 10g
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B. Microsoft SQL Server 2014
C. Oracle 11g
D. Microsoft SQL Server 2012

Correct Answer: BC

QUESTION 12

An architect is designing Active Directory (AD) permissions for a Horizon environment that will use pre-existing
computer accounts. The AD Security Team has restrictions about the use of service accounts. What two sets of
minimum permission are needed to delegate to an AD service account? (Choose two.)

A. Create Computer Objects, Delete Computer Objects

B. List Contents, Read All Properties

C. Read Permissions, Reset Password

D. Write Permissions, Change Password

Correct Answer: BC

Reference: https://pubs.vmware.com/view-51/index.jsp?topic=%2Fcom.vmware.view.administration.doc%2FGUID-
ED99E026-5D70-4ADF-B4BC-A64A3386E10C.html

QUESTION 13

The finance group in a company has asked for a new application to be made available to all of the members of the
finance department. The application is currently installed on all the finance desktops, but will be moving to a cloud-
hosted model.

What solution should the IT administrator use to manage access to the new application?

A. Package the application using ThinApp and deploy to the finance department.

B. Manage the application with VMware ldentity Manager.

C. Assign the new application to the finance department using App Volumes.

D. Deploy each user a new cloud based virtual desktop.

Correct Answer: B

QUESTION 14

A customer is looking to implement Horizon View Windows desktops for a 500-seat call center operating under these
conditions:

1.
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Three 8-hout shifts

2.

First and second shifts are 100% staffed

3.

Third shift operates with reduced staffing of only 200 representatives

Management is frustrated by the lack of productivity that occurs during shift changeover. Logoff and logon processes
take in excess of 5 minutes.

The customer has asked an architect to recommend the most cost-effective configuration that provides the shortest
possible amount of downtime between shifts.

Which two should the architect choose? (Choose two.)
A. Deploy named user licenses.

B. Create an instant clone pool.

C. Create a full clone pool.

D. Deploy concurrent licenses.

E. Capture Windows applications as a Thin App.

Correct Answer: BD

QUESTION 15

A customer reported that during maintenance activity, some users were unable to connect to assigned desktops and
received an error that the pool had no desktops available. Other users were able to connect to their assigned desktops
without issue.

Which three reasons could be the cause of the failure? (Choose three.)

A. SQL Server was down.

B. VMware Composer Server was down.

C. View Connection Server was down.

D. vCenter Server was down.

E. App Volumes Manager Server was down.

Correct Answer: CDE
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